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1

2. Answers are to be written in the question paper only.
3. All questions are to be answered.
4

-

Marks will not be given for over-written, re-written or erased answers.

L. Writethe CAPITAL LETTER of the correct answer in the

brackets provided against each question.

2. TwosetsAandB are disjoint, then n(A U B e

(A) n(A) + n(B)
(C) n(AnB)

3. If Alx) =«®-5x + 6, then A2) =
A 0
©) 5
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10xY% =5
|
B) ~pv~gqg
D) ~pa~gq
[0-'0000]
(B) n(A) + n(B)-n(AnNB)
(D) n(A)
.............. [oo-o-oo]
(B) 20
(DY =
[1] PT.O.



4.  Ifthe roots of the equation P+ gx + r=0are equal, then ....... Lisisssd

A ¢%= pr (B) p®=4pq
©) ¢*= 4pr (D) r2= pr
5. Theinequation for 1< x < 3is......... Foiiosial
(A) x®+4x+3<0 (B) #*-4x+3<0
(C) x*-4x-3<0 D) x*+4x-3<0

6. The graph of the curve of x = my? (m>0) lies in the quadrants ....... Livsensel

(A) land2 (B) 2and3
(C) 3and4 (D) 1and4

7. The point that lies in the half plane x + e S | S
A (1,1 (B) (2,2
©) (3,3 D) 4,4

8 18%= . Fescasss)
(A) 16 (B) 24
(C) 32 (D) 64

9. 124 8. +100=............ [.......]
(A) 5050 (B) (5050)2
(C) 49225 (D) 505
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10.

11.

12.

13.

14.

15.

16.

17‘

18.

19.

20.

If x, 3,z arein AP, then2y = ........... Lesosenid
A) x+z
(B) x-z

©) Jxy

(D) xz

Fill in the blanks with suitable answers. 10x¥% =5

The symbol for existential quantifieris ...........c.c......
If(x+y, 1)=(8, y—x),theny = ....ccccccvrivrrneras
If a function is one-one and on-to, then the functioniscalled ..........cccccunee

If the sum of co-efficients of the polynomial flx) is zero, then ..............ccocuncee. is a
factor of it.

If x<0, y > 0,then the point (x, y) liesin .......ccccociiiiicncnees quadrant.

2x+3 _
e 3x+5

...........................

The limiting position of secant of a Circleis ..........c.ccoeninneee

The Geometric Mean of 5 and 12518 ....ccccvveeererrnennnns

Sum to n terms of the series
(a+1D)+(@+2)+ (@ +3)+ ....... G LN o s

15E(B) (3] PT.O.



III. Forthe following questions under Group-A, choose the correct answer from the
master list Group-B and write the letter of the correct answer in the brackets

provided against each item. 10x %2 =5
(i) Group-A Group - B :
21. IfAcB,thenAnB=... . | (A) x2aor x<-qa
22. If flx) =x, thenfis............. Lo B) (prg)v(pa r)
C) B
23- Iflx,sa, then ............. [-.oc--o] ( )
(D) Constant
24. p/\(qv r)= ........... [coooooo] quCtlon.
(E) A
25. If AnB=¢,then BAA'=..... | (P g <e

(G) Identity function

H) (pag)v(pvr)

(@) Group-A Group-B
26. If (\/;)a = x%, thena = Gy [cc.ooco] (A) &
(B) 1
27. If f(x)=3Vx, then xI_Jfg flx)= .. Ficaiass]
© %
28. ¥n=66,thenn=...... Fieswsen]
(D) 6
3
29. Z 4’ Saeerieians [ooo-noc] (E) 9
i=0
(F) 0
80. Ifa*=b; ¥ =¢; f=gq, | (PR, | @ 11
then xyz = ..........
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